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QUESTION 1
You are tidying up a Jira project and find that the following two issue types are being used.
Task Assignment

They seem very similar. If both are not needed, you could convert all existing Assignment issues in the project into Task
issues and remove the Assignment issue type from the project.

Which project configurations would you check to see if it is necessary to keep the two as separate issue types instead?
(Choose three.)

A. Issue Security Levels
B. Field Configurations
C. Components

D. Permissions

E. Workflows

F. Field Contexts

Correct Answer: ABF

QUESTION 2

A project has hundreds of old completed issues which are cluttering up the reports, searches, and dashboards.
The project administrator has the following requirements:

1.

He wants to hide the old issues.

2.

He wants to unhide issues, if needed.

3.

He wants to control whether he himself sees the hidden issues, so they do not clutter his own daily work. Which three
configurations, when combined, will meet these requirements? (Choose three.)

A. security level
B. project permission

C. workflow condition
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D. project role
E. global permission
F. group

Correct Answer: BDF

QUESTION 3

Jan asked you to create a new Select List custom field called Department for his project MCAS.

You created the field in the morning. In the afternoon, Jan notes that his Jira dashboard is not showing the
field correctly. He asks to help him troubleshoot.

View the Exhibit to see Jan\\'s entire dashboard.

The first gadget shows 26 issues in the project by Status.

The second gadget shows that there are three issues that have the new Department field set.

The last gadget shows "No Data Available". The filter query for that gadget is "project=MCAS and

Department is empty."

Issue Statistics: MCAS (Status) Issue Statistics: Department is not emply (Department)

Status Count Percentage Department Count Percentage
OPEN 17 £5% HR —_—
IN PROGRESS - 4% Marketing | —
REOPENED - 4% Sales _—
RESOLVED {  — 15% Total 3
CLOSED — 12%

Total 2% lssue Statistics: Department is empty [Department)

a No Data Available

Why does Jan\\'s gadget say "No Data Available"?

A. The field is marked Optional in the Field Configuration.

B. Jan does not have the proper Browse permissions.

C. The field context on the Department field was not set to allow empty values.

D. You created the field Department but did not re-index the MCAS project.
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E. The JQL query for the filter is not valid.
F. There is issue security on the issues.

Correct Answer: C

QUESTION 4

A project lead wants to conduct historical trend analysis, but she is worried that older issues are being updated in a way
that inhibits their comparison. She wants to take a snapshot of the data in her project at regular intervals so she can
compare different periods.

Which tool will help meet this need?

A. Backup Jira data

B. Project Export

C. JQL Results Snapshot

D. Issue Filter Export to CSV

Correct Answer: D

QUESTION 5

The Release Manager is having problems caused by inconsistent naming of versions across projects. He
would like to use a more consistent naming convention.

The developers do not know the naming convention, and are happy to let the Release Manager rename
versions when they get the names wrong.

The projects all use the Default Permission Scheme.

Which action would allow the Release Manager to update the versions in the projects?

A. Change the Manage Versions permission in the permission scheme.

B. Change the workflow to allow the Release Manager to update versions.

C. Add the Release Manager to the Administrators project role.

D. Add the Release Manager to the developer role.

Correct Answer: B
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